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sssus o 0.4 Pythagorean Theorem

B
- If A ABCis a right triangle with right angle C,
a then a° + b% = c2.
-
C b A
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A. Find x.
O\':L’ 4 !
b= 7
C=%X
alil t=c?

Q i

B. Find x. X
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e If A ABCis a right triangle with right angle C,
: then 32 + b2 = [,‘2

12
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KeyConcept Common Pythagorean Triples <
3,4,5 51213 | 81517 7,24,25 .
6,8, 10 (10,2426 ) | 16,30, 34 14,48, 50
97215 24, 45,51 21,72,75
. 3x, 4x, 5x 5x, 12x,13x 8x,15x,17x 7x,24x, 25X
12CYIJ12-07 Use a Pythagorean Triple -
Use a Pythagorean triple to find x. Explain your /}\
reasoning. ek R |
i
C%ar#.
26 G=x =]0>
27T
g 19 26
Q =
Q
Use a Pythagorean triple to find x. j\
[
) C,}\ec,K out the chart
A=X = IS
39
X ly =%
=31
j -
36 Q)
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Theorem

A 20-foot !adder is placed against a building to
reach a window that is 16 feet above the ground.
How many feet away from the building is the
bottom of the ladder? 2 2 2

- W 2+167=20

X :1,201—162

G=12 ¢

A ——

“Theorem 8.5 Converse of the Pythagorean Theorem

-
€\t 42 4+ B2 = ¢ then A ABCis a right friangle.

B

®
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Theorems Pythagorean Inequality Theorems

Type of Triangle Equation Example K:Q

Right | a°+ b’ =¢? Bl\
Triangle ;1 A

Acute | ¢? <« a2 + b2 a /B\
Triangle .. N

Obtuse | ¢?> a2 + %, | \~.

Angle \

SEXANVIELER)

"/ Classify Triangles

A. Determine whether 9, 12, and 15 can be the
measures of the sides of a triangle. If so, classify
the triangle as acute, right, or obtuse. Justify your

answer.l ? c=15 Clonad b
Triann |€ o7 nah. ]
9 l§>15 T s | b=12
4316 512V Ves. a=1
1241s>9 vV

B. Determine whether 10, 11, and 13 can
measures of the sides of a triangle. If so, classify

the triangle as acute, right, or obtuse. Justify y
ANSWEE: o ol

5% =)2%4 92

225 = 2285V
&

our

(e ’ 3 (’onje’s TL)

Trr'afu\ b: “
[O‘Hl%’g‘/ / a:’o
JO+I2>H A

11 +13 >0

13%=11%+107

69 4. 2219

Acute
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